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Plane_Start(S12,USB,0) =

(0 5 10 15 20) USB

1404212
1328627
1254224
1178642
1104239
1028656
954252
878665
804262
728680
654277
578694
504289
428707
354304
278720
204317
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—74975.673 —74998.975 -75000.157
977813.855 1478962.32 1980204.64 2481194.246
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1905104
1830801
1754914
1680605
1604718
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1454521
1380216
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2406919
2331640
2256362
2181085
2105806
2030529
1955253
1881951
1806673
1731396
1656118
1580838
1505560
1430282
1356991
1281711
1206436
1131156
1055877
980599
905323
832023
756746
681466
606189
530911
455633
380352
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2907205
2833393
2757200
2683390
2607195
2533383
2457196
2383384
2307194
2233382
2157189
2083376
2007188
1933376
1857186
1783376
1707181
1633370
1557177
1483363
1407176
1333364
1257172
1183360
1107170
1033358
957165
883353
807164
733352
583350
433346
283339
133340
33334
33334
33334
33334
33334
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USB :=

26.108

2020-12-09
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Plane_Start(S12,USB, 1) =

Plane_Start(S12,USB, 2) =

—75000.354

32.713

11
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30
33

2

902837

827862

752885

677916

602934

527961

452984
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—74989.256
2982644.881

39.33
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MONO16 1x1 1440x900
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Plane_Start(S9,USB,0) =

(0 5 10 15 20) USB

1054641 1437128

979051 1362826
904650 1286937
829063 1212631
754659 1136746
679078 1062435
604672 986550
529092 912237
454688 837933
379107 762045
304702 687738
229118 611848
154714 537540
79131 461652
16534 387345
16534 311457
16534 237151
16534 162850
16534 86958
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
16534 22134
—74975.512
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746636.929

9.813

1820543
1745264
1669983
1594710
1519431
1444150
1368875
1295574
1220300
1145022
1069743
994462
919187
843913
770612
695335
620051
544774
469504
394223
318944
245647
170369
95092
27734
27734
27734
27734
27734
27734
27734
27734
27734
27734
27734
27734
27734
27734
27734
27734

—74993.489 -75005.411 —75003.943
1129357.115 1512276.346 1894856.704 2277958.643

14.839

2202429
2128616
2052423
1978614
1902422
1828608
1752423
1678609
1602412
1528608
1452413
1378603
1302410
1228597
1152408
1078597
1002401
928593
852401
778590
702399
628585
552395
478584
402389
328585
252389
178574
102385
33334
33334
33334
33334
33334
33334
33334
33334
33334
33334
33334

19.867

2020-12-09

Plane_Start(S9,USB, 1) =

Plane_Start(S9,USB, 2) =

24.894
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MONO16 1x1 800x600
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Plane_Start(S6,USB,0) =

(0 5 10 15 20) USB
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6.646

1218317
1143040
1067765
992486
917205
841928
766647
693350
618073
542798
467516
392238
316961
241689
168391
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1478604
1404793
1328508
1254787
1178508
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954787
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804781
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578587
504775
428583
354771
278580
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Plane_Start(S6,USB, 1) =

Plane_Start(S6,USB, 2) =

—75003.626 —75030.361

13.46 16.861
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ms_1200 = (plane_start(s12,UsB,0)T
al2 := neigung(USB,ms_1200)
b12 := achsenabschn(USB, ms_1200)

)<3> )<3> )<3>

ms_600 = (Plane_Start(S6,USB, 0)"
a6 := neigung(USB, ms_600)

b6 := achsenabschn(USB, ms_600)

ms_900 = (Plane_Start(s9,USB, 0)"
a9 := neigung(USB, ms_900)
b9 := achsenabschn(USB, ms_900)

) /9
ms_1200°° —
oy / al2 = 1.322 b12 = 12.893
ms_900 LY - =
ms_600 ¢ / a6 = 0.681 b6 = 6.645
At 10
0
0 10 20
USB
—b12 -b9 b6
—— = -9.755 — =-9.754 — =-9.751
al2 a9 ab
1200 al2 1200 al2
neigung|| 900 |,| a9 |[|= 0.001066962093 achsenabschn|| 900 |[,| a9 || = 0.042680363135
600 ab 600 ab
Time_limit = (usb + 9.76)-(0.001067-Height + 0.0421)
o
47
oy
777 42)
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10

St Pos

1108

M12 := erweitern(S_Ll<1>,S_L1<3‘>,0~S_L1<3> + 1)

M9 := erweitern(S_LZ<1> , S_L2<3> @ )

,0-s L2% +1
M6 = erweitern(S_L3<1>,S_L3<3>,O~S_L3<3> + 1)
al2 1 a9 1
b12 | = (M12"-m12) “-m12"-s 1P b9 | == (Mo"-Ma) ~-moT.s_ 122
cl2 c9
al2) (-74996.232 a9\ (-74999.673
bl12 | = | 100242.601 b9 | = | 76563.699
c12) \977738.286 o) \746581.996
T12 = a12:5 L1 4 b12:s 1@ + c12 T = 205 127V 4 b9s 12% + co
600 ) (1
M := erweitern/| 900 |,| 1
1200 ) (1
1 a6 1 b6
ka= (MT-M) M7 a0 kb= (MT-M) M| bo
al2 b12
LED_calibration_MONO16 2020-12-09

ab
b6
c6

ab
b6

c6

T6 :=

- (m6"-m6) 1'M6T~S_L3<2>

~75007.8
= | 52245.992
509179.773
a6-S_L3<1> + b6~S_L3<3> + ¢

c6

ke = (MT-m) 1-MT- c9

cl2
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0.0192794071 Kb 79.9943473784 K 780.9308547693
= = C=
—75018.5866594854 4355.8514243832 41662.2486268927

0.0192794071 b 79.9943473784 < 780.9308547693
= = C:=
~75018.5866594854 4355.8514243832 41662.2486268927
H:=1200 SP_12:= (Ka -H+ Ka,)-S |_1<1> + (Kb,-H + Kb_)-S |_1<3> + (Ke,-H + Kc
- _12:= (Kaj-H+ Kay)-S LI + (Kby-H + Kby)-S_LI™ + (Key H + Koy
, . (D (3
H:= 900 SP 9:= (Kal~H + Ka2>~S_L2 + (Kb1~H + Kb2>~S_L2 + (Kcl~H + KCZ)

H := 600 SP 6 := (Kal~H + Ka2>~S_L3<1> + (Kb1~H + Kb2>~S_L3<3> + (Kcl~H + KCZ)

Start Pos

(s._|_1<1> ,s_|_1<3>,sp_12 - s._|_1<2>),(s._|_2<1> ,S_L2<3>,SP_9 - S_L2<2>),(S_L3<1> ,s_L3<3> ,SP_6 — S_L3<2>)
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31@"""

St Pos

2 108 |

Ond

M12 := erweitern(S_R1<1>,S_R1<3>,O-S_R1 +1

(D (3

M9 = erweitern(S_RZ ,S R27,00S R2™ +1

(D (3

M6 = erweitern(S_RS ,S R37,00S R3™ +1

al2 1
b12 | = (M12"-m12) -m12Ts R
cl2

al2 0
b12 | =| 1120
cl2 10934

v (3

2

T12:= al2:S_R1” + b12:S_R1™ + c12

LED_calibration_ MONO16

a9
b9
c9

a9
b9
c9

T9 =

- (Mmo"-m9) 1~M9T~S_R2

(2

-0
1120
10934

(D (3

a9-S_ R2" + 09-S_ R2 + ¢9

2020-12-09

ab
b6
c6

ab
b6

c6

T6 :=

- (m6"-m6) 1-M6T.S_R3

-0
=| 1120
10934

a6~S_R3<1>

(2

+ b6~S_R3<3> + €6
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( (v (3 2

s R1Y,s R1¥,s R1 —T12),(s_Rz<1> ,S_R2<3>,S_R2<2>_T9)’( D o 5 o p2

S_R3",S R3",S_R3 —T6)

Time_limit = (usb + 9.76)-(0.001067-Height + 0.0421)

Time shorter than Time limit

StartPos := [(0.0000390615-H — 0.0707123)-H — 74967.6652]-ms + [(~0.0035966154-H + 86.4884205)-H + 1635.68176]-usb

StartPos := StartPos + (—0.0344038914-H + 842.6668063)-H + 16080.628624

Time longer than Time limit

StartPos = 1120-usb + 10939

Robin last equation. 80-H-usb + 4210-usb + 778-H + 44510 — 75000-ms

Result with 1 degree: (-0.01928-H — 75018.5867)-ms + (79.9943-H + 4355.8514)-usb + 780.9309-H + 41662
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